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Level 6-7 This is the easiest type that you will need to simplify, requiring only the need to cancel similar conditions.  Example: Simplify the following \dfrac{55x^4y^3}{15x^2y} Using our knowledge of index rules we can cancel as follows. \dfrac{\sout{55}x^{\sout{4}} y^{\sout{3}}{\sout{15}\sout{x}^{\sout{2}}\sout{y}} = \dfrac{11x^2y^2}{3} When
fractions include quadricolors, you must first consider the quadrant to simplify.  Example: Simplify the faction \dfrac{a^2 + a - 6}{ab + 3b}. Step 1: First, we need to take into account the numeric and denominator of the faction. (Revise factoring quadratics here) Number first, a^2 + a - 6 = (a + 3)(a - 2) Now, for denominator, ab + 3b = b(a +
3) Step 2: Undo our faction, in this case we can cancel (a + 3) both in the numerator and in the denominator This looks like: \dfrac{(a+03)(a-2)}{b(a+3)}=\dfrac{\xcancel{(a + 3)}(a - 2)}{b \xcancel{(a + 3)}} = \dfrac{a - 2}{b} Multiplication and division of algebraic fractions is exactly the same as ordinary fractions. When multiplying, multiply the
top with the top and bottom to the bottom separately. When splitting, simply turn the second fraction, and then multiply.  Example: Simplify the following \dfrac{(3x+1)}{(x-1)} \div\dfrac{2x}{(x-1)} Step 1: Turn the second fraction upside down and change \div to \times \dfrac{(3x+1)}{(x -1)} \div \dfrac{2x}{(x-1)}==\dfrac{(3x+1)}{(x-1)} \times
\dfrac{(x-1)}{2x} Step 2: Cancel the faction if possible.  \dfrac{(3x+1)\xcancel{(x-1)}}{2x\xcancel{(x-1)}} = \dfrac{3x+1}{2x} When adding and subtracting fractions you must always find a common denominator, this is the same for algebraic fractions. Example: Write \dfrac{2}{x+2} + \dfrac{3}{2x+1} as a single fraction. Step 1: We need to
multiply each fraction with the denominator of another faction.  \bigg(\dfrac{2}{x+2}\times\textcolor{red}{\dfrac{2x+1}{2x+1}}\bigg) + \bigg (\dfrac{3}{2x+1}\times\textcolor{blue}{\dfrac{x+2}{x+2}\bigg) = \dfrac{2\textcolor{red}{(2x+1)}{{(x+2)\textcolor{red}{{(2x+1)}} + \dfrac{3\textcolor{blue}{(x+2)}}{{2x+1)\textcolor{blue}{(x+2)}}
\dfrac{2\textcolor{red{{(2x+1){{{{(x+2)\textcolor{red {}{(2x+1)}} + \dfrac{3\textcolor{blue}{(x +2)}{{{(2x+1)\textcolor{blue}{(x+2)}} = \dfrac{4x + 2}{(x+ 2)(2x+1)} + \dfrac{13x+6}{(2x+1)(x+2)} Step 3: Add (or subtract) fractions \dfrac{4x + 2}{(x+2)(2x+1)} + \dfrac{3x+6}{{2x+1)) (x+2)} = \dfrac{7x+8}{(2x+1)(x+2)} Simplify completely the following
algebraic fraction , \dfrac{2x + 4}{3xy} \times \dfrac{x}{x + 2} [4 tags] Step 1: Multiply top from top and bottom with bottom number of multipliers : (2x + 4) \times x = x(2x + 2x + 2x4) Multiply denominators: 3xy \times (x + 2) = 3xy(x + 2) So, our faction is: \dfrac{x(2x + 4)}{3xy(x + 2)} Step 2: Undo the x factor at the top and \dfrac{\xcancel{x}
(2x + 4)}{3\xcancel{x}y(x + 2)} = \dfrac{2x + 4}{3y(x + 2)} Now, this might look like we have completely simplified it, but if we consider that 2x + 4 = 2(x + 2), then suddenly we have a common factor. We get: \dfrac{2(\xcancel{x + 2)}{3y\xcancel{(x + 2)}} = \dfrac{2}{3y} After cancellation (x + 2) no more common factors, so we are finished.
Write \dfrac{m}{m - 6} + \dfrac{m}{7} as a single faction in the simplest form.  [4 tags] Step 1: We need to multiply each fraction with the denominator of another faction.  \dfrac{m}{\textcolor{red}{m - 6}}+\dfrac{m}{\textcolor{blue}{7}}= \dfrac{\textcolor{blue}{7}m}{\textcolor{blue}{7}(m - 6)}+\dfrac
{100000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000 m(\textcolor{red}{m - 6}}{7(\textcolor{red}{m - 6})} Step 2: Add fractions \dfrac{7m + m(m - 6){{7(m - 6)} Step 3: Simplify where
possible.  \dfrac{7m + m(m- 6)}{7(m - 6)}=\dfrac{7m + m^2 - 6m}{7(m - 6)}=\dfrac{m^2 + m}{7(m - 6)}={m(m + 1)}{7(m - 6)} We cannot further simplify this faction, so the final answer is \dfrac{m(m + 1)}{7(m - 6)} We need to find a common denominator between all three fractions before we can make an add-on and subtract.  Since the 30 is
the lowest common multiple of 2, 3 and 5, we will select 30x as the common denominator.  Therefore, we can multiply each term by, \dfrac{1}{2x}+\dfrac{1}{3x}-dfrac{1}{5x} = \bigg(\dfrac{1}{2x}\times\dfrac{15}{15}{1} &lt;6&gt;\bigg)+\bigg(\dfrac{1}{3x}\times\dfrac{10}{10}\bigg)-\bigg(\dfrac{1}{5x}\times\times\1 {6}{6} \bigg) \begin{aligned}
&amp;= \dfrac{15}{30x}+\dfrac{10}{30x}-\dfrac{6}{30x} \\\\\&amp;= \dfrac{15+10-6}{30x} \\\\&amp;=\dfrac{19}{30x}\end{aligned} We need to find a common denominator between factions before we can make an add-on, therefore, \dfrac{8}{x}-\dfrac{1}{x-3}=\dfrac{8(x-3)}{x(x-3)}-dfrac{1(x)}{(x-3)(x)} This can be simplified to, \dfrac{8x-24-x}
{x(x-3)}=\dfrac{7x-24}{x(x-3)} No longer common terms, so this is completely simplified.  First, we'll look at the numeric allimeter before we factor it in. we need to expand the brackets, 2(8 - k) + 4(k - 1) = 16 - 2k + 4k - 4 = 2k + 12 Then, the most we can do is to extract 2 as a factor, leaving us with 2k + 12 = 2(k + 6) Now, the denominator
is a special type of quadriplegic expression called the difference of two squares. , k^2 - 36 = (k + 6)(k - 6) As there is a factor (k + 6) in both the numeric book and the denominator, they will be canceled. \dfrac{2\cancel{(k + 6)}{{(\cancel{k + 6)}(k - 6)} = \dfrac{2}{k - 6} No more common factors, so we are done. Our first step in dividing any
faction should be to turn the second faction and turn division into multiplication. \dfrac{7ab}{12} \div \dfrac{4a}{9b^2} = \dfrac{7ab}{12} \times \dfrac{9b^2}{4a} To complete multiplication, \dfrac{7ab}{12} \times \dfrac{9b^2}{4a}=\dfrac{3}{48a} There is a factor that we can cancel and can also remove factor 3 of 63 and 48,  \times 21b^3}{3a
\times 16} = \dfrac{21b^3}{16} To do this, we must find a common denominator. Therefore, the left part must be multiplied by (z + 5) at the top and bottom. \dfrac{z + 2}{z - 1} = \dfrac{(z + 2)(z + 5)}{(z - 1)(z + 5)} For the right fraction we will multiply (z - 1) at the top and bottom. \dfrac{z}{z + 5} = \dfrac{z(z- 1)}{(z - 1)(z + 5)} Then, the
subtraction is: \dfrac{z + 2}{z - 1} - \dfrac{z}{z + 5} = \dfrac{(z + 2)(z + 1} 5)}{(z - 1)(z + 5)} - \dfrac{z(z- 1)}{(z - 1)(z + 5)} = \dfrac{(z + 2)(z + 5) - z(z- 1)}{(z - 1)(z + 5)} Number extension, we get: (z + 2)(z + 5) - z(z-1) = z^2 + 7z + 10 - z^2 + z = 8z + 10 Since the denominator (z - 1)(z + 5), we can see that there is no common factor which
means that our final answer: \dfrac{2(4z + 5)}{(z - 1)(z + 5)} English (United Kingdom) English (United States) Español (Latinoamérica) Related topics: More math lessons A levels Math Worksheets Examples , solutions, videos, games, activities, and worksheets that are suitable for GCSE maths to help students learn how to solve
equations that involve fractions. GCSE Maths Revision - Solving linear equations involving factions Easy resolution of algebraic fractions - GCSE A* and AS Maths Revision GCSE Maths - Equations With Algebraic Fractions - Quadratics - Algebra A Star Higher AS Equation with Algebraic Fractions GCSE Maths Higher revision Exam
Practice paper &amp; help Try the free Mathway calculator and problem solver below to practice various math topics. Try the default examples, or type your own problem and check your answer with step-by-step explanations. We welcome your feedback, comments and questions about this site or page. Send your feedback or inquiries
via our Feedback page. slideshow: image freeideal for GCSE revision, this is one of the collections of worksheets containing exam-type questions that gradually increase the difficulties. These review sheets are great for use in class or as homework. They're also great for one-on-one tuition and interventions. For similar revisionist sheets
on other topics (all with answers), click � tes.com/../more... �If you like this resource, then rate it and/or leave a comment�. If the speed range button on this page does not work, go to the rating page by clicking here �tes.com/.../rate-resources... - This worksheet contains a whole range of exam-type questions that require students
to solve equations involving algebraic fractions. The issues gradually increase the difficulties, and the last row is particularly challenging and involves solving the quadrant. Read moreFreeReport problem FULL LESSON, which can definitely be used over 2 lessons for the right classes, to solve equations involving algebraic fractions.
Download content: Normal program lesson with which you can use / mouse / keyboard to continue animation and display fully animated and working solutions. Two printable worksheets for students with examples to speed up the lesson (without copying questions, etc.). A worksheet can be used independently of a PowerPoint lesson! We
learn about: Solving equations with algebraic fractions We learn: Solve equations involving algebraic fractions Differentiated Goals: Developing students will be able to solve equations involving algebraic fractions with numerical denominators. Confident students will be able to solve equations involving algebraic fractions with algebraic
denominators. Excelling students will be able to solve unknown problems involving solving equations with algebraic fractions. Main: Went through examples with binomial numerators, which lead to exercises of similar types of questions. He went through examples with binomial denominators. This divides the lesson into two different parts
(or 2 whole lessons for the appropriate classes). All solutions given on PPT. Please leave feedback!! Feedback!!
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